Peerless

5" WOOFER

832592

130 WR 26 72 PPB 89
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A 5" woofer with die-cast basket, black polypropylene cone and rubber
surround. A small woofer which is not only well designed but also has got
excellent data and a smooth response due to a low loss resonance-free
rubber surround. It can be used in two-way-systems in boxes of 5-10 ltrs. and
in spite of its small size it gives a really good bass. It is also very suitable in

even smaller boxes as satellites supplemented with a subwoofer to add deep
bass. Can furthermore be used as midrange in three-way-systems.

Thicke Small paramctors: Free sir  Common  Baffled Magnet and voice coll parameters:
Nominal impedance £nom =) L Voice coil diameter d  (mm) 26
Minimum impedance/at freg. Zmin  (Q/Hz): 677298 Voice coil length h  (mm) 0o
Maximum impedance Zo Q) 21 Voice coil layers n 2
De resistance Re Q) &l Flux density in gap B (T 094
Voice coll inductance le (mH): L Total useful Mux O (mWh): 064
Capacitor in serics with 8Q Ce (k) 9 Height of the gap (mm): L]
(For impedance compensation) "
Diameter of magnct dm  {mm): n
Resonance frequency B (Hz): M9 529
Height of magnet hm  {mm): 15
Mechanical Q facior Qs xm Fa L) £
Weight of magnet (kg [ §a)
Electrical Q factor Qes 0.55 ns7
Total Q factor Qs 043 04s
¥ (Ratio f/Qus) ¥ (Ha): n
Mechanical resistance Rms (hg/s): 130
Miwing mass Mins g): 8 R4
Suspension complisnce Cms  (mm/N): o8 Power handling:
Effective cone diameter D {cm): n4 Longierm Max
Effective piston arca 54 fom’): #50 S s ¥ »
Max i SPL
Equivalent wolume Vas 0 1o (iR b itor @BW): 10200
Force fackor HL (NAAY 33 Frequency range for test signal: — 20-5000 Hz
Reference Voltage Sensitivity (dB): 869 Nermal sdactal e
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